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MOMENT OF INERTIA LAB

SEE EXAMPLE 10.3 OF TEXTBOOK

FROM EXAMPLE REFERENCED ABOVE AND FROM
CHAPTER 2, IT CAN BE SHOWN

1= mt[-gz-g-—z] o 2. We will use this formula to find the moment of

inertia I of a disk and ring and then compare with the theoretical
values. Here h is the vertical distance fallen by hanging mass m in
time t, and r = radius of axle and I is the moment of inertia for
horizontally spinning disk and/or ring of demonstration equipment
used in class for the past few weeks. You will measure r with
vernier calipers, t with a digital timer, and m is from the weight
sets and sits on a 50 g hanger. The data sheet below suggests we
must eliminate I for the spindle (SP) to find the ring (RING) and
disk (DISK) I’s. We will get these I’s by subtracting various
results given below in data sheet,
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1. COMPUTE Ipisx  USING APPROPRIATE SUBTRACTION.

2. COMPUTE Jzneg  USING APPROPRIATE SUBTRACTION.

COMPARE DYNAMIC MEASUREMENTS WITH
THEORETICAL I- VALUES

IRING MASS Mrmg =

RING RADIUS Ry =

PERCENT DIFFERENCE

DISK MASS MDISK =

DISK RADIUS Rpisg =

THEORETICAL Ipx =

PERCENT DIFFERENCE

ENTER RAW DATA IN THE ABOVE TABLE. SHOW.
CALCULATIONAL WORK IN SPACE BELOW AND
ATTACHED WHITE SHEETS.
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